Solve the following Maths problems.
Don't forget to share your solutions!

2. 78232 3. 1263829
11464+ 147405+
4 5. 6.
2,2 _ 4. 6 _ 2,6 _
4 12 g8t 247 7 7287
7 8. 9.
2 2 _ 1 1_ 4 2 _
13+3 3= 33%*2 3= 13+1§=
10. 11. 12.
2.421+7.564= 4.57+5.479= 14.74+9.18=
13. Write the missing digits to make this correct.
2 + 2 =200

14. The number increase by 3.25 each time. Write the missing numbers.




Addition*™*

ANSWER SHEET
2. 78232 3. 1263829
11464+ 147405+
19287 1411234
4., 5. 6.
2,2_2 4 6 _3 2.6 _1
4 12 3 g8¥ 2474 772872
7. 8. 9.
2,,2_¢c1 1,,1 2 4,42
13+33_53 33+23=53 15+1 5=3
10. 11. 12,
2.421+7.564= 4.57+5.479= 14.74+9.18=
_9.985 ~10.049 _23.92
13. Write the missing digits to make this correct.
1 2 8 + 7 2 =200

14. The number increase by 3.25 each time. Write the missing numbers.




Solve the following Maths problems.
Don't forget to share your solutions!

2. 9595 3. 6537
7232+ 1869+
4. 27947 5. 78232 6. 63829
3705+ 11464+ 47405+
7.2 2 8. 9.
50% 20 = 4 6 _ 2 6 _
127 12 10" 20
10. 11. 12.
826=800+___+6 7850=7000+_____ +50 3620=_____ +600+20
13. 14. 15.
5.21+7.564= 2.57+3.479= 14.04+6.16=

16. The number increase by 35 each time. Write the missing numbers.




Addition”

Solve the following Maths problems.

Don't forget to share your solutions!

2. 595 3. 867
242+ 569+

4. 7949 5. 8272 6. 3849

705+ 1434+ 1405+
7. . )

l + 2 = ¢ l + 2 - ? 2 + Q _

5 3 gtg ~ 10Y¥10°
10. 11. 12,
732=700+4___+2 850=_____ +50 1420=_____ +400+20
13. 14. 15.
3.244.5= 1.57+4.47= 4.04+6.16=

16. The number increase by 15 each time. Write the missing numbers.




Addition”

ANSWER SHEET

356 2. 595 3. 867

677+ 242+ 569+

1033 837 1436
4. 7949 5. 8272 6. 3849

705+ 1434+ 1405+

8654 9706 2254
Pi,2_3 % g 2 3| |%2,6_8

5 5 5 gtg T3 10t 10~ 10
10. 11. 12.
732=700+_304+2 | |850=800_+50 1420=1000+400+20
13. 14. 15.
3.2+4.5= 1.57+4.47= 4.04+6.16=

48.2 6.04 10.64

16. The number increase by 15 each time. Write the missing numbers.




Addition™

ANSWER SHEET
2. 9595 3. 6537
7232+ 1869+
16827 | 8406
4. 27947 5. 78232 6. 63829
3705+ 11464+ 47405+
31652 89696 | 111234
7'Z+Z=i 8. ﬁ+§_ﬂ 9°Z+§_l
20 20 20 127127 12 107207 2
10. 11. 12.
826=800+_20+6 7850=7000+800 450 3620=3000+600+20

13. 14. 15.

5.21+7.564= 2.57+3.479= 14.04+6.16=
12.774 6.049 | 20.2

16. The number increase by 35 each time. Write the missing numbers.




